

$\sin(\tan^{-1}x) = \cos(\sin^{-1}(x/2))$

$\sin(\tan^{-1}x) = \cos(\sin^{-1}(x/2))$ is an intriguing trigonometric equation that combines inverse trigonometric functions with basic sine and cosine functions. Exploring such equations helps deepen our understanding of the relationships between different trigonometric functions and their inverses, which are fundamental in calculus, geometry, and mathematical analysis. This article aims to analyze the equation thoroughly, understand its solutions, and explore related concepts, all while optimizing for SEO to help students, educators, and math enthusiasts find comprehensive information on this topic.

Understanding the Equation: $\sin(\tan^{-1}x) = \cos(\sin^{-1}(x/2))$

Before delving into solving the equation, it is essential to understand the individual components and their properties.

Inverse Trigonometric Functions

Inverse trigonometric functions such as $\tan^{-1}x$ (arctangent) and $\sin^{-1}x$ (arcsine) are functions that reverse the effects of the basic trigonometric functions. They are crucial in solving equations involving angles and ratios.

- $\tan^{-1}x$ (arctangent) gives the angle whose tangent is x .
- $\sin^{-1}x$ (arcsine) provides the angle whose sine is x .

Both functions have specific domains and ranges:

- $\tan^{-1}x$ is defined for all real x , with a range of $(-\frac{\pi}{2})$ to $(\frac{\pi}{2})$.
- $\sin^{-1}x$ is defined for x in $[-1, 1]$, with a range of $(-\frac{\pi}{2})$ to $(\frac{\pi}{2})$.

Basic Sine and Cosine Functions

The sine and cosine functions are fundamental in trigonometry:

- $\sin \theta$ measures the y-coordinate of a point on the unit circle.
- $\cos \theta$ measures the x-coordinate of a point on the unit circle.

In our equation:

- The left side is $\sin(\tan^{-1}x)$.
- The right side is $\cos(\sin^{-1}(x/2))$.

Understanding how these components interact helps in solving the equation.

Analyzing the Equation Step-by-Step

To comprehend and solve the equation $\sin(\tan^{-1}x) = \cos(\sin^{-1}(x/2))$, we analyze each side separately and look for potential relationships.

Evaluating the Left Side: $\sin(\tan^{-1}x)$

Let's consider:

- $\theta = \tan^{-1}x$
- Then, $\tan \theta = x$.

USING THE RIGHT TRIANGLE REPRESENTATION:

- OPPOSITE SIDE = x
- ADJACENT SIDE = 1
- HYPOTENUSE = $\sqrt{1 + x^2}$

THUS:

$$\sin \theta = \text{OPPOSITE} / \text{HYPOTENUSE} = x / \sqrt{1 + x^2}.$$

THEREFORE:

$$\sin(\tan^{-1}x) = x / \sqrt{1 + x^2}$$

EVALUATING THE RIGHT SIDE: $\cos(\sin^{-1}(x/2))$

LET:

- $\phi = \sin^{-1}(x/2)$
- THEN, $\sin \phi = x/2$.

REPRESENTING THIS WITH A RIGHT TRIANGLE:

- OPPOSITE SIDE = $x/2$
- HYPOTENUSE = 1

THE ADJACENT SIDE:

$$\text{ADJACENT} = \sqrt{1 - (x/2)^2} = \sqrt{1 - x^2/4} = \sqrt{(4 - x^2)/4} = (1/2)\sqrt{4 - x^2}$$

NOW:

$$\cos \phi = \text{ADJACENT} / \text{HYPOTENUSE} = (1/2)\sqrt{4 - x^2} / 1 = (1/2)\sqrt{4 - x^2}$$

So:

$$\cos(\sin^{-1}(x/2)) = (1/2)\sqrt{4 - x^2}$$

REWRITING THE EQUATION IN SIMPLIFIED FORM

PUTTING IT ALL TOGETHER, THE ORIGINAL EQUATION BECOMES:

$$x / \sqrt{1 + x^2} = (1/2)\sqrt{4 - x^2}$$

TO VERIFY THE SOLUTIONS AND UNDERSTAND THE BEHAVIOR, WE ANALYZE THIS EQUALITY FURTHER.

SOLVING THE EQUATION: ALGEBRAIC APPROACH

LET'S EXPLORE THE ALGEBRAIC STEPS TO FIND THE SOLUTIONS FOR x .

SQUARING BOTH SIDES

SQUARING BOTH SIDES ELIMINATES THE SQUARE ROOTS:

$$[x / \sqrt{1 + x^2}]^2 = [(1/2)\sqrt{4 - x^2}]^2$$

CALCULATING EACH SIDE:

$$x^2 / (1 + x^2) = (1/4)(4 - x^2)$$

MULTIPLY THROUGH BOTH SIDES BY $(4(1 + x^2))$ TO CLEAR DENOMINATORS:

$$4x^2 = (1 + x^2)(4 - x^2)$$

EXPAND THE RIGHT SIDE:

$$- ((1)(4 - x^2) + x^2(4 - x^2) = 4 - x^2 + 4x^2 - x^4)$$

SIMPLIFY:

$$4x^2 = 4 - x^2 + 4x^2 - x^4$$

BRING ALL TO ONE SIDE:

$$4x^2 - 4 + x^2 - 4x^2 + x^4 = 0$$

COMBINE LIKE TERMS:

$$- (4x^2 - 4x^2 = 0)$$

$$- (x^2) \text{ REMAINS}$$

$$- \text{CONSTANT TERM: } (-4)$$

$$- \text{PLUS } (x^4)$$

RESULTING IN:

$$x^4 + x^2 - 4 = 0$$

THIS IS A QUADRATIC IN (x^2) :

$$\text{Let } y = x^2$$

$$\Rightarrow y^2 + y - 4 = 0$$

SOLVE FOR Y USING QUADRATIC FORMULA:

$$\begin{aligned} y &= [-1 \pm \sqrt{1^2 - 4(1)(-4)}] / 2 \\ &= [-1 \pm \sqrt{1 + 16}] / 2 \\ &= [-1 \pm \sqrt{17}] / 2 \end{aligned}$$

SINCE $(x^2 = y)$, AND $(x^2 \geq 0)$, WE ONLY CONSIDER POSITIVE SOLUTIONS:

- FIRST ROOT:

$$y = [-1 + \sqrt{17}] / 2$$

WHICH IS POSITIVE BECAUSE $(\sqrt{17} \approx 4.123)$, SO

$$y \approx (-1 + 4.123) / 2 \approx 3.123 / 2 \approx 1.5615$$

- SECOND ROOT:

$$y = [-1 - \sqrt{17}] / 2$$

WHICH IS NEGATIVE:

$$(-1 - 4.123) / 2 \approx -5.123 / 2 \approx -2.5615$$

AND SINCE $\sqrt{x^2}$ CANNOT BE NEGATIVE, DISCARD THIS SOLUTION.

THUS:

$$x^2 \approx 1.5615$$

$$\Rightarrow x \approx \pm\sqrt{1.5615} \approx \pm 1.249$$

IMPORTANT: THESE SOLUTIONS MUST BE CHECKED AGAINST THE ORIGINAL EQUATION TO ENSURE THEY ARE VALID, ESPECIALLY BECAUSE SQUARING CAN INTRODUCE EXTRANEOUS SOLUTIONS.

VERIFICATION OF SOLUTIONS

TO VERIFY WHETHER $(x \approx \pm 1.249)$ SATISFY THE ORIGINAL EQUATION, SUBSTITUTE BACK INTO THE SIMPLIFIED FORM.

CHECK FOR $x \approx 1.249$:

- LEFT SIDE:

$$x / \sqrt{1 + x^2} \approx 1.249 / \sqrt{1 + 1.5615} \approx 1.249 / \sqrt{2.5615} \approx 1.249 / 1.6 \approx 0.7806$$

- RIGHT SIDE:

$$(1/2)\sqrt{4 - x^2} \approx 0.5 \sqrt{4 - 1.5615} \approx 0.5 \sqrt{2.4385} \approx 0.5 \cdot 1.5615 \approx 0.78075$$

THE VALUES ARE APPROXIMATELY EQUAL, CONFIRMING THAT $(x \approx 1.249)$ IS A VALID SOLUTION.

SIMILARLY, FOR $(x \approx -1.249)$:

- LEFT SIDE:

$$-1.249 / \sqrt{1 + 1.5615} \approx -1.249 / 1.6 \approx -0.7806$$

- RIGHT SIDE:

$$0.5 \sqrt{4 - 1.5615} \approx 0.78075$$

SINCE THE RIGHT SIDE

FREQUENTLY ASKED QUESTIONS

WHAT IS THE MAIN GOAL WHEN SOLVING THE EQUATION $\sin(\tan^{-1} x) = \cos(\sin^{-1}(x/2))$?

THE MAIN GOAL IS TO FIND ALL REAL VALUES OF x THAT SATISFY THE EQUATION BY SIMPLIFYING AND APPLYING INVERSE TRIGONOMETRIC IDENTITIES.

HOW CAN THE EXPRESSION $\sin(\tan^{-1} x)$ BE SIMPLIFIED?

$\sin(\tan^{-1} x)$ CAN BE SIMPLIFIED USING THE IDENTITY $\sin(\tan^{-1} x) = x / \sqrt{1 + x^2}$.

WHAT IS THE SIMPLIFIED FORM OF $\cos(\sin^{-1}(x/2))$?

$\cos(\sin^{-1}(x/2))$ SIMPLIFIES TO $\sqrt{1 - (x/2)^2} = \sqrt{1 - x^2/4}$.

HOW DO YOU SET UP THE EQUATION AFTER SIMPLIFICATION?

AFTER SIMPLIFICATION, SET $x / \sqrt{1 + x^2} = \sqrt{1 - x^2/4}$ AND SOLVE FOR x .

WHAT ARE THE KEY STEPS TO SOLVING THE RESULTING EQUATION?

KEY STEPS INCLUDE SQUARING BOTH SIDES TO ELIMINATE RADICALS, SIMPLIFYING THE RESULTING ALGEBRAIC EQUATION, AND SOLVING FOR x , THEN VERIFYING SOLUTIONS.

ARE THERE ANY DOMAIN RESTRICTIONS FOR x IN THE ORIGINAL EQUATION?

YES, SINCE $\sin^{-1}$ AND $\tan^{-1}$ HAVE SPECIFIC DOMAINS, x MUST SATISFY $-\infty < x < \infty$ FOR $\tan^{-1} x$, AND $-2 \leq x \leq 2$ FOR $\sin^{-1}(x/2)$.

WHAT ARE THE SOLUTIONS TO THE EQUATION?

THE SOLUTIONS ARE $x = 0$ AND $x = \pm\sqrt{2}$, AFTER SOLVING THE ALGEBRAIC EQUATION AND CHECKING THE DOMAIN RESTRICTIONS.

HOW CAN YOU VERIFY THE SOLUTIONS FOR THE ORIGINAL EQUATION?

SUBSTITUTE EACH SOLUTION BACK INTO THE ORIGINAL EQUATION TO ENSURE BOTH SIDES ARE EQUAL, CONFIRMING THEIR VALIDITY.

ADDITIONAL RESOURCES

$\sin(\tan^{-1} x) = \cos(\sin^{-1}(x/2))$: UNRAVELING AN INTRICATE TRIGONOMETRIC IDENTITY

INTRODUCTION: THE FASCINATING WORLD OF TRIGONOMETRIC EQUATIONS

IN THE VAST UNIVERSE OF MATHEMATICS, TRIGONOMETRY STANDS OUT AS A FIELD RICH WITH IDENTITIES, TRANSFORMATIONS, AND RELATIONSHIPS THAT OFTEN SEEM COMPLEX YET REVEAL ELEGANT SIMPLICITY UPON CLOSER EXAMINATION. AT THE HEART OF THIS EXPLORATION LIES THE INTRIGUING EQUATION:

$$\sin(\tan^{-1} x) = \cos(\sin^{-1}(x/2))$$

THIS EQUATION INTERWEAVES INVERSE TRIGONOMETRIC FUNCTIONS—NAMESLY, ARCTANGENT AND ARCSINE—WITH THEIR DIRECT COUNTERPARTS, SINE AND COSINE. FOR MATHEMATICIANS, STUDENTS, AND ENTHUSIASTS ALIKE, SUCH IDENTITIES NOT ONLY DEEPEN UNDERSTANDING OF TRIGONOMETRIC FUNCTIONS BUT ALSO SERVE AS GATEWAYS TO ADVANCED TOPICS LIKE CALCULUS, COMPLEX ANALYSIS, AND GEOMETRIC INTERPRETATIONS.

THE PURPOSE OF THIS ARTICLE IS TO DISSECT, ANALYZE, AND UNDERSTAND THIS EQUATION THOROUGHLY, PROVIDING CLARITY THROUGH DETAILED EXPLANATIONS, ALGEBRAIC MANIPULATIONS, AND GEOMETRIC INSIGHTS.

UNDERSTANDING THE COMPONENTS: A PRIMER ON INVERSE TRIGONOMETRIC FUNCTIONS

BEFORE DELVING INTO THE EQUATION ITSELF, IT IS CRUCIAL TO REVISIT THE FUNDAMENTAL DEFINITIONS AND PROPERTIES OF THE INVOLVED FUNCTIONS.

THE INVERSE SINE (ARCSINE) FUNCTION: $\sin^{-1}$ OR $\arcsin$

- DEFINITION: FOR A REAL NUMBER y IN THE INTERVAL $[-1, 1]$, $\arcsin(y)$ RETURNS AN ANGLE θ IN THE RANGE $[-\pi/2, \pi/2]$ SUCH THAT $\sin(\theta) = y$.
- PROPERTIES:
- MONOTONICALLY INCREASING ON ITS DOMAIN.
- INVERSE RELATIONSHIP WITH SINE WITHIN ITS PRINCIPAL RANGE.

THE INVERSE TANGENT (ARCTANGENT) FUNCTION: $\tan^{-1}$ OR $\arctan$

- DEFINITION: FOR ANY REAL NUMBER x , $\arctan(x)$ RETURNS AN ANGLE θ IN $(-\pi/2, \pi/2)$ SUCH THAT $\tan(\theta) = x$.
- PROPERTIES:
- COVERS THE ENTIRE REAL LINE.
- MONOTONICALLY INCREASING.

UNDERSTANDING THESE FUNCTIONS' RANGES AND BEHAVIORS LAYS THE FOUNDATION FOR ANALYZING THE GIVEN IDENTITY.

DECIPHERING THE EQUATION: BREAKING DOWN THE IDENTITY

THE EQUATION INVOLVES TWO PARTS:

- LEFT SIDE: $\sin(\tan^{-1} x)$
- RIGHT SIDE: $\cos(\sin^{-1}(x/2))$

BY EXAMINING EACH COMPONENT, WE CAN ATTEMPT TO EXPRESS BOTH SIDES IN TERMS OF x AND SEE IF THEY ARE EQUIVALENT.

EVALUATING THE LEFT SIDE: $\sin(\tan^{-1} x)$

LET'S DENOTE:

$$\theta = \tan^{-1} x$$

THIS MEANS:

$$x = \tan \theta$$

SINCE θ IS THE ANGLE WHOSE TANGENT IS x , AND $\theta \in (-\pi/2, \pi/2)$, WE CAN IMAGINE A RIGHT TRIANGLE WITH:

- OPPOSITE SIDE = x
- ADJACENT SIDE = 1
- HYPOTENUSE = $\sqrt{1 + x^2}$

THEREFORE,

$$\sin \theta = \frac{\text{OPPOSITE}}{\text{HYPOTENUSE}} = \frac{x}{\sqrt{1 + x^2}}$$

THIS DIRECTLY GIVES:

$$\sin(\tan^{-1} x) = \frac{x}{\sqrt{1 + x^2}}$$

CONCLUSION: THE LEFT SIDE SIMPLIFIES TO:

$$\boxed{\sin(\tan^{-1} x) = \frac{x}{\sqrt{1 + x^2}}}$$

EVALUATING THE RIGHT SIDE: $\cos(\sin^{-1}(x/2))$

LET'S DENOTE:

$$\phi = \sin^{-1} \left(\frac{x}{2} \right)$$

WHICH IMPLIES:

$$\sin \phi = \frac{x}{2}$$

WITH $\phi \in [-\pi/2, \pi/2]$. FOR THIS ANGLE:

- OPPOSITE SIDE = $x/2$
- HYPOTENUSE = 1 (SINCE $\sin \phi = \frac{\text{OPPOSITE}}{\text{HYPOTENUSE}}$)

CONSTRUCTING A RIGHT TRIANGLE WITH THESE RATIOS:

- OPPOSITE SIDE = $x/2$
- HYPOTENUSE = 1
- ADJACENT SIDE = $\sqrt{1 - \left(\frac{x}{2}\right)^2} = \sqrt{1 - \frac{x^2}{4}} = \frac{\sqrt{4 - x^2}}{2}$

NOW, THE COSINE OF ϕ IS:

$$\cos \phi = \frac{\text{ADJACENT}}{\text{HYPOTENUSE}} = \frac{\sqrt{4 - x^2}/2}{1} = \frac{\sqrt{4 - x^2}}{2}$$

CONCLUSION: THE RIGHT SIDE SIMPLIFIES TO:

$$\boxed{\cos(\sin^{-1}(x/2)) = \frac{\sqrt{4-x^2}}{2}}$$

THE SIMPLIFIED IDENTITY: COMPARING BOTH SIDES

NOW, THE ORIGINAL EQUATION CAN BE REWRITTEN USING THE SIMPLIFIED FORMS:

$$\frac{x}{\sqrt{1+x^2}} = \frac{\sqrt{4-x^2}}{2}$$

TO VERIFY WHETHER THE IDENTITY HOLDS UNIVERSALLY OR UNDER SPECIFIC CONDITIONS, WE ANALYZE THE EQUALITY:

$$\frac{x}{\sqrt{1+x^2}} = \frac{\sqrt{4-x^2}}{2}$$

VALIDITY AND DOMAIN CONSIDERATIONS

STEP 1: CROSS-MULTIPLIED FORM:

$$2x = \sqrt{1+x^2} \cdot \sqrt{4-x^2}$$

STEP 2: SIMPLIFY THE RIGHT SIDE:

$$2x = \sqrt{(1+x^2)(4-x^2)}$$

STEP 3: SQUARE BOTH SIDES TO ELIMINATE THE SQUARE ROOT:

$$(2x)^2 = (1+x^2)(4-x^2)$$

$$4x^2 = (1+x^2)(4-x^2)$$

STEP 4: EXPAND THE RIGHT SIDE:

$$4x^2 = (1)(4-x^2) + x^2(4-x^2) = 4-x^2 + 4x^2 - x^4$$

$$4x^2 = 4 + 3x^2 - x^4$$

STEP 5: REARRANGED AS:

$$x^4 + x^2 - 4 = 0$$

$$4x^2 - 3x^2 + x^4 = 4$$

$$x^2 + x^4 = 4$$

OR EQUIVALENTLY,

$$x^4 + x^2 - 4 = 0$$

SOLVING THE RESULTING QUARTIC EQUATION

LET'S SET:

$$y = x^2$$

THE EQUATION BECOMES:

$$y^2 + y - 4 = 0$$

WHICH IS A QUADRATIC IN Y.

USING THE QUADRATIC FORMULA:

$$y = \frac{-1 \pm \sqrt{1^2 - 4 \times 1 \times (-4)}}{2} = \frac{-1 \pm \sqrt{1 + 16}}{2} = \frac{-1 \pm \sqrt{17}}{2}$$

SINCE $(y = x^2 \geq 0)$, ONLY POSITIVE SOLUTIONS ARE VALID.

- FOR THE POSITIVE ROOT:

$$y = \frac{-1 + \sqrt{17}}{2} \approx \frac{-1 + 4.1231}{2} \approx \frac{3.1231}{2} \approx 1.56155$$

- FOR THE NEGATIVE ROOT:

$$y = \frac{-1 - \sqrt{17}}{2} \approx \frac{-1 - 4.1231}{2} \approx \frac{-5.1231}{2} \approx -2.56155$$

SINCE (y) CANNOT BE NEGATIVE (AS $(y = x^2)$), ONLY:

$$x^2 = \frac{-1 + \sqrt{17}}{2} \approx 1.56155$$

IS VALID.

Thus,

$$\begin{aligned} & \sqrt[2]{\pm \sqrt{\frac{-1 \pm \sqrt{17}}{2}}} \\ & \end{aligned}$$

which are real solutions where the original identity holds.

Interpretation and Geometric Significance

The derivation reveals that the initial trigonometric identity holds only at specific points determined by the solutions to the quartic equation. Essentially, the identity

$$\begin{aligned} & \sqrt[2]{\sin(\tan^{-1} x) = \cos(\sin^{-1}(x/2))} \\ & \end{aligned}$$

is not universally valid for all real (x) , but rather at particular values where the algebraic condition derived above is satisfied.

Geometric intuition:

- The left side, $(\sin(\arctan x))$, corresponds to the sine of an angle with tangent (x) , which can be visualized as a point on a right triangle with sides (x) and 1.
- The right side, $(\cos(\arcsin(x/2)))$, corresponds to the cosine of an angle with sine $(x/2)$, which can be represented similarly.

The points where the two

Sin Tan 1x Cos Sin 1 X 2

Sin Tan 1x Cos Sin 1 X 2

Related Articles

- [Is -3/4 A Rational Number? Pls Help](#)
- [Solve This Equation:3y-4=6 -2y](#)
- [Have To Finish These By The 23rd :\(](#)

[Back to Home](#)